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76- Helen is ............. good English teacher that I’m sure you will be happy with her.
1) so 2)soa 3) very 4) such a
77- Our neighbor’s big dog is very ............. and my little girl is usually ........... when
she sees it.
1) frightened — frightened 2) frightened — frightening
3) frightening — frightening 4) frightening — frightened
78- The new high-quality models of sunglasses are going to ............ in our factory next
year.
1) be produced 2) be producing 3) produced 4) produce
79- Unfortunately, | forgot to email the photographs ............. at the birthday party to
my friends.
1) taken 2) which took 3) were taken  4) that | took them
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80- Reza is sick and the doctor has advised him to ............ the amount of fat in his
food.
1) ignore 2) reduce 3) prepare 4) destroy
81- This type of plant, which is rare here, is ............ found in the mountains of South
America.
1) briefly 2) formally 3) commonly 4) efficiently

82- Mr. Alavi is interested in Asian countries, so he went on a long journey of ...........
into China.

1) prediction 2) destination 3) exploration 4) communication
83- Our plans are very ............... , S0 we can meet you either on Wednesday or on
Thursday.

1) private 2) flexible 3) actual 4) immediate
84- Muslims always ............... their shoes before entering a mosque or other holy
places.

1) take off 2) turn off 3) make up 4) call up

85- In my opinion, the climbing of Mount Everest was an excellent example of human
1) device 2) gesture 3) mystery 4) endeavor
86- Both Mr. and Mrs. Karimi are worried about their son because he does not take life

1) reguolarly 2) seriously 3) emotionally  4) comfortably
87- She was not in a good mood, so she welcomed her guests with a(n) ............. smile
on her face.

1) brilliant 2) primary 3) artificial 4) effective
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The earliest known people of North America were Indians and Eskimos. They probably (88)......

to North America from Asia by way of Alaska, over along (89) ............. of time. They spread
to the east and south throughout North America. The Eskimos and many of the Indian tribes lived
in undeveloped ways, (90) ......... stone weapons and tools. Many were wandering hunters in the
O1) ......... and forests. The Indians of Mexico and Central America had an advanced
civilization, with fine buildings, art, and systems of law and (92)....... The greatest of the ancient
Indian peoples, among them the Mayas and Aztecs, built beautiful stone temples and palaces.
88- 1) migrated 2) increased 3) stretched 4) survived
89- 1) phase 2) pattern 3) period 4) process
90- 1) used 2) using 3) for using 4) they used
91- 1) communities 2) planets 3) towers 4) plains
92- 1) document 2) department 3) environment 4) government
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Passage 1: We can look at nature in the same way that we look at a complicated machine, to see
how all the parts fit together. Every living thing has its place in nature, and ecology is the study
of how things live in relation to their surroundings. It is a relatively new science and is of great
importance today. It helps us understand how plants and animals depend on each other and their
surroundings in order to survive. Ecology also helps us work toward saving animals and plants
from extinction and solving the problems caused by pollution. Plants and animals can be divided
into different groups, depending on their ecological function. Plants capture the Sun’s light
energy and use it to produce new growth, so they are called producers; animals consume plants
and other animals, so they are called consumers. All the plants and animals that live in one area
and feed off each other make up a community. The relationship between the plants and animals in
a community is called a food web; energy passes through the community via these food webs.

93- Which of the following is the best title for the passage?
1) Living Animals in Nature 2) Saving Animals and Plants
3) Ecology and Food Webs 4) Nature: A Complicated Machine
94- Which of the following is NOT true about ecology?
1) It studies the relationship between plans, animals and the environment.
2) It divides plants and animals into different groups.
3) It is a rather new field of study.
4) 1t is a very important science.
95- What does the word “they” in line 9 refer to?
1) Plants 2) Animals 3) Producers 4) Both animals and plants
96- Which of the following can be concluded from the passage?
1) The main ecological function of a food web is to capture the Sun’s light.
2) The main problem made by pollution is the extinction of plants and animals.
3) All plants that produce food for human beings and animals form a community.
4) In order to have a healthy environment, both producers and consumers are needed.

Passage 2: Robert Boyle (1627-1691) lived at a time when many young men in England were
becoming interested in science and in making scientific experiments. He himself was a great
scientist in chemistry. His life was spent in scientific research and he made a number of important
discoveries. He was one of a group of learned men who often met together to discuss new
developments and discoveries in science; this “invisible college”, as it was called, eventually
became the Royal Society in 1660. Boyle was born in Ireland. When he was eight years old, he
went to school at Eton, in England, and three years later he set off to travel in Europe with his
French private teacher. While he was in Italy, he studied the work of the great scientist Galileo.
Having returned home, he began carrying out his own experiments. He and his assistant, the




inventor Robert Hooke, made an air-pump which enabled him to perform experiments with air

and to discover, for example, that air is essential for breathing, for burning, and for the

transmission of sound. Boyle believed that all matter was made up of what he called “primary

particles” and thus he anticipated modern atomic theories.

97- Which of the following is NOT true about Boyle?

1) He somehow predicted the emergence of modern atomic theories.
2) He devoted his life to studying and doing scientific experiments.
3) He met the great scientist Galileo when he was in Europe.

4) He went to Europe when he was only 11 years old.

98- What does the “invisible college” refer to in the first paragraph?

1) Boyle’s regular meetings with other scientists
2) The Royal Society that Boyle established himself

3) Secret discussions on new developments in science

4) The building where Boyle did his scientific experiments
99- Which of the following countries is NOT mentioned in the passage?

1) ltaly 2) England 3) Ireland

4) France

100- Which of the following can be concluded from the passage?
1) Boyle was most probably born in a family with a good financial status.
2) The air-pump enabled Boyle to develop his theory of primary particles.
3) It was Robert Hooke who helped Boyle make most of his discoveries.
4) While traveling in Europe, Boyle and Hooke made an air-pump.
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